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Multiply by 10, 100 and 1,000

o Complete the calculations and sentences.

Use place value counters to help you.

a) 23x10=

When the number is multiplied by 10 the counters move
place to the left.

b) 23x 100 =

When the number is multiplied by 100 the counters move
places to the left.

) 23x1,000=

When the number is multiplied by 1,000 the counters move
places to the left.

° Complete the diagram.

x 10

‘ 3.06

x 10 ‘

each calculation.

° a) Draw counters on the place value charts to represent

b) Complete the calculations.

44x1=

44x10=

4.4x 1,000 =

What do you notice?
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o Complete the calculations.

@) 13.44x10= d) 44x = 4,400
b) 41.4x 100 = b =1.03x 100
€ 0.415 x 1,000 = ) 3044 = x 10

e Complete the diagrams.

x 10 x 10,
7.039 —b‘

x 100 x 10
| 7.039 }—b —P{

What do you notice? Why does this happen?

° Write >, < or = to compare the number sentences.

|.4x|oxmx|oO 1.4 x 1,000
uxmxmoQ 1.4 x 1,000
uxmme 1.4 x 1,000
uxmsz 1.4 x 100

° Kim is calculating 14.3 x 200

She writes this as her answer.
14.3 x 200 = 28.600

Explain Kim's mistake.

o Use the cards to complete the calculation.

You can use each card more than once.

0.002 =2,000

How many waus s it possible to complete this calculation?
Talk about it with a partner.
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Three decimal places

o Use place value counters to make the numbers.

Draw your answers.

a) 1343

Thth
b) 16.052

Thth
A 7.001

Thth
d) 70.01

Thth

° Complete the sentences.

There are ones.

There are tenths.
There are hundredths.
There are ‘thousandths.

The number in digits is

@ write the value of the 3 in each number.

a) 3.65

b) 0.093

1831

d) 72.439

e) 32701

f) 19.03
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o Complete the part-whole models.

b)

e Complete the number sentences.

@) 17.134=10+7+0.1 + +0.008

b) 94.077 = 90 + 4 + 0.07 4|

L]

=30 +4+0.07 +0.009

e Complete the number sentences.

1.456=1+04 +

1.456=1+03+

1.456=1+402+

+0.006

+0.006

+0.006

1456 =1+

+0.006

° Mo and Annie have represented 0.121 on their place value charts.

Mo's chart

Annie's chart

o [ o]
o (000

Who do you agreewith?

Explain why.
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